Practice

Wite the words as an algebraic expression.

1. the length plus seven

2. three times the height minus four

3. two times the height plus four times the

width

4. five times the aumber of dogs minus two

times the number of cats

Write each expression in words.

Y5 2h+4 6. 3w~ 6

7 20+ 3w~ 1 8.2d-3c+6
Evaluate. |
8.x+4, x=2 0.4y, y=3
'I'!tﬂl t=17 12. 8 —w, w=2
5. 4m+2, m=3 14. 66— 2, £ =5
15.9- 20, x = 4 6. 6r+8, r =7
Evaluate 4o for ench value of x.

17. 3 8. 7 19. 2 20. 0
Evaluate 4y + 2 for each value of y.

21. 1 22. 6 23. 3 24, 5
Evalyate for x = 2.
‘25. 3% 26. 4x + 7 27. 10— 4x
28. x? 29, x% — 1 30. 2(x + 1)
Evaluare for y = 3.

314y 32.8 -y 33,10 - 3y

33. 4 +y7 35. 9% -2 36. 2(y - 2)
Poaluate forx=1andy=4 |

3. x+y 38. 2x +y 39.4x+y+3
x+y—5 4. 2x +3y—5 42 Sx -y + 1
Fvaluate for x = 3.2 and y = 1.4.

43. x +y aa. x —y 45.x + 2y
46. 3x — 2y 4. 4x +y @Z(x +5)

. r

53.5 4+ 3m, m = =2

Evaluate. o
49, .‘Zx, X =2 5?2, = =1
51.9+6, y = -3 G2 4t+3, t=—4

@8—272, n=-1

Evaluate for x = =2 and y = -3,
@ 2x + 3y

5x+4y+7

Problems and Applications

Ss.x-i-y
S7 3x— 2y

59. The total cost of a banquet, in dollars, is
represented by the expression 22, where »
is the number of people. What is the cost for
37 students?

60. The points total of an NHL team is given
by the expression 2w + t, where w is the
number of wins, and 7 is the number of ties.
Copy and complete the table to find the points
totals for sorne Canadian teams in one season.

Team Wins - Tes Poils

Calgary 43 11
tdmonton 28 8
Maontreal 48

Ottawa 10 4
Quehec 47 10
Toronte - 44 11
Vancouver 48 9

61. An expression that has 3 terms is called a
trinomial. The prefix #i- means three. Find
two other words that start with tri-.

1% 62. Evaluate each expression.
Ya)(x+3)+2y, 222, y=3

b)2(t~3)2 45, t =6, 5= 2
Q3d+5)-26, d=-3, ¢ = -2

63. Find the whole-number values of & for
which the first expression is larger than, or
equal to, the second.

a) 2x, x° b) 3x, x?
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